
5° HUMANÍSTICO    liceo 10     2018 

 

FUNCIONES POLINÓMICAS 

Inecuaciones 

 

Resuelve las siguientes inecuaciones: 

 

1) 4(x – 3)(x + 8)(x – ½) < 0 

2) –5(x – 4)
2
x > 0 

3)  (x – 13)(–x
2
 + 4x – 4) ≤ 0 

4) 
2

2

x(2x 5x 10)
0

x 4

 

5) 
3 2

x 6x 15x 10
0

2x

 

6) 
3 2

2

x 4x 5x
0

(x 5)

 

7) 
3 2

2

x 2x 3x 6
0

x 2x

 Sabiendo que el numerador y el denominador tienen 

una raíz común. 

 

 

SOLUCIONES: 

1) S = (–∞; –8)(1/2; 3) 

2) S = (–∞; 0) 

3) S = [13; +∞){2} 

4) S = (–∞;–2)(0 ; 2) 

5) S = (–∞;–1][0 ; 5) 

6) S = (–∞;–4]{2} 

7) S = (–∞;–2)(–2 ; –√3](0 ; √3]  
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